Afleidur nokkurra falla
f(x)=x" £ (x)=n"!
£lx)=vx / (")221&
f(x)=sin(x)  f'(x)=cos(x)
f(x)=cos(x)  f'(x)=—sin(x)
f(x)=tan(x)  f’(x)=1+tan’(x)
flx)zn(s) 0=
f(x)=cot(x)  f'(x)=—(1+cot’(x))
flx)=cotlx) f'(x)=—p
sin’(x)
fx=i(x)  fx=
f(x)=log,(x) £ (x)= g
f(x)=¢" ' (x)=¢"
f(x)=d" f'(x)=a"In(a)

Diffrunarreglur

y=k-f(x) y'=k f'(x)
y=f(x)+g(x) y'=f"(x)+g'(x)
y=f(x)g(x) y'=f"(x)g(x)+f(x)g'(x)
_f(x) _Sf(x)glx)=f(x)g'(x)
Y= - 2
g(x) g (x)
y=rf(g(x)) y'=f"(g(x))g'(x)

Reglur um diffur

d(f-g)=df g+ [-dg d(i):w

g g
d(f+g)=df +dg d(f(g(x)))=f"(g(x))dg(x)

Linuleg nalgun
I{x)=f (xg)+ f " (3x0)(x —x)



